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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-—--—e-eeeex
by the keeping and use of animals.

1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --------e=-e=—= by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ---
to be used for the new dish.

1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —---eeeeeeeeee issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint --——-—--noemev to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try to ---—--——-——---- themselves from their biases and be objective,
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article
that said his company was —-------——--—- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of ---——----—-----; as you can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can —--—--—-—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ——==——eem—— -, since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ====mmmmemmm- -- can thus defy any formula
(14) ~——mmemmmeee the matter. The number of people that Earth can support depends on
(15) ——mmmmmmmmv -—, on what we want to consume. and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Consideration of the second generation of economic, social and cultural rights moves a
human rights discourse to the core of mainstream social work. While only a minority
of social workers would be seen as concerned primarily with first-generation rights,
most if not all social workers are concerned with helping people realize second-
generation rights. Social workers in the public welfare system, and indeed many
others, are concerned daily with poverty and with people who have to make do on very
low incomes. The right to an adequate income and standard of living, and the right to
income security, are central to the work of such social workers. Similarly, the right to
adequate shelter and housing is a fundamental principle for many social workers
concerned with homelessness or with residential care. and with finding appropriate
accommodation for vulnerable groups such as the aged. people with disabilities.
children in care, single parents and refugees. The right to an adequate standard of
health care is of major importance for social workers in hospitals, health centers and
clinics. Social workers in the education field. and those working with children, have a
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primary concern for the right to education, and almost all social workers find
themselves involved with the right to meaningful work. through helping to find
employment for those whose access to the employment market is restricted because of
age. disability. sexuality. gender. race. ethnicity, inadequate education or training,
geographical location, global corporations, or simple bad luck.

The conventional approach to social work suggests that these second-generation
rights can best be met by the provision of social services, to provide the guaranteed
basic minimum standards of health. housing. education, and so on. This is fully
consistent with the social democratic ideology of many social workers, which suggests
that the provision of adequate services is the way to overcome social problems. It also
suggests that social work practice, which in many contexts is about delivering the
social services, is essentially concerned with ensuring that people's second-generation
human rights are met. Thus in their regular day-to-day practice social workers
involved in direct service with individuals and families can be seen as human rights
workers.

What is the best title for the passage?

1) Second Generation of Social Work 2) Interesting Aspects of Social Work
3) First and Second Generation Rights 4) Social Workers as Human Rights Workers
According to paragraph 1, second-generation rights —------v---- -

1) are central to mainstream social work practice

2) should take priority over first-generation rights

3) are the primary concern of a minority of social workers

4) should also deal with the realization of social workers' rights

All of the following are mentioned in paragraph 1 as rights with which social workers
are concerned EXCEPT the right to —---eeeeeeeeeee

1) making a decent living 2) having freedom of speech

3) receiving proper health care 4) being provided with education
The word "vulnerable" in paragraph 1 is closest in meaning to —---—--—=--e—- ;

1) cohesive 2) negligible 3) susceptible 4) exceptional

According to paragraph 2, which of the following is NOT true about the provision of
social services?

1) It can result in surmounting social problems.

2) It is the main concern of all human rights workers.

3) It is recommended by social democratic ideology.

4) It is an approach to ensuring second-generation human rights.

PASSAGE 2:

What about the saying 'opposites attract'? Do research findings on the prevalence of
similarity completely deny its veracity? In popular culture, there is a notion that
individuals are attracted to people whose characteristics are different but complementary
to their own. This is based on the belief that opposites attract because it allows them to
divide tasks and pursue goals without too much disagreement. The most obvious
example is that if one enjoys staying home raising children while the other prefers to
earn money outside the home, then this can be achieved without conflict. On the whole
there is little support for this contention and this type of complementarity is neither
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sought by partners nor does it lead to long-term harmony, especially among romantic
couples. Nevertheless, there is evidence of complementarity when it comes to
dominance and submission: Markey and Markey (2007). investigating couples who had
been married at least a year, found that those who reported the greatest satisfaction were
those who were similar in warmth but dissimilar in terms of dominance: on this
dimension there is probably more evidence of complementarity than similarity. This
supports the interpersonal complementarity model (Carson 1969) which holds that the
most compatible romantic couples are those who are similar on warmth but opposite on
dominance.

Although research shows a correlational relationship between similarity and
friendship, it does not necessarily mean that we are attracted to another person because
they are similar to us. Rosenbaum (1986) contends that social psychologists have
overestimated the role of similarity of attitudes in interpersonal relations. In his
repulsion hypothesis, he argues that we don't necessarily like people who share our
attitudes but we do dislike those whose attitudes differ greatly from ours. When we
choose a long-term partner, we first eliminate all those whose attitudes contrast with our
own and then select more or less randomly from the remainder. According to this
hypothesis, it is not so much that there is a similarity-attraction effect but more of a
dissimilarity-repulsion effect.

What does the passage primarily discuss?

1) Individual characteristics of romantic couples

2) The prevalence of the saying "opposites attract” in popular culture

3) The role of complementarity and similarity in relationship formation

4) The effects of warmth and dominance on successful relationships

Why do some believe that people with complementary characteristics attract each other?
1) Similarity gets boring in long-term relationships.

2) People are motivated by a subconscious desire for conflict.

3) People are attracted to what they do not find in themselves.

4) This enables them to easily divide tasks between one another.

The phrase "this contention" in paragraph 1 refers to the idea that -——--cceeeeeee,
1) opposites attract

2) conflict is undesirable

3) tasks should be divided

4) women should stay home and raise children

Which of the following is NOT suggested by Markey and Markey's (2007) study?
1) Difference can help compatibility between couples.

2) Dominance and submission provides evidence for complementarity.

3) Successful couples stay together for at least a year.

4) Couples who have the most satisfaction are similar in terms of warmth.
According to paragraph 2, what is more important to us in building friendships?
1) Eliminating those who share our attitudes

2) Avoiding those whose attitudes contrast with ours

3) Choosing those who can become our long-term partners

4) Attracting those whose characteristic are similar to ours
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PASSAGE 3:

Today, the feeling is that society is becoming increasingly fragmentary, uncertain,
fluctuating, liquid, estranged and manipulated. In other words, it is decreasingly "human',
if not inhuman, in its everyday social relationships. Social problems are increasing.
whilst solutions are receding. In the Western world. especially in Europe. there is a
feeling of deep unease and increasingly vocal expressions of dissatisfaction. This issue
has been discussed by most major contemporary sociologists, such as Niklas Luhmann,
Ulrich Beck or Zigmunt Bauman.

Empirical research confirms this unease to be largely the case because it is reflected
by objective indicators, both as far as institutions are concerned (reputed to be incapable
of responding to people's problems) and also for inter-subjective relations (perceived as
being increasingly volatile and devoid of meaning). In stressing this issue. it is not
denied that there are also signs of great vitality and regeneration. Nevertheless, such
'happy areas' are usually under siege and increasingly difficult to develop and to
cultivate. What is happening?

Communitarians deplore the growing dysfunctionality of the community. Liberals
denounce the demise of the individual as the center of free and responsible decision-
making. Socialists draw attention to the loss of solidarity and robust social cohesion. To
solve these problems, is it sufficient to call on people to be a little more humane (to
show unity. tolerance, a willingness to be peaceable etc.) in their personal relations?
Many believe so and stop there. Others demand structural reforms with the aim of
inducing people to behave pro-socially. These are like dogs chasing their own tails,
because the more they work to implement their social reforms the more noticeable is the
stridence of individualism and privatization, with all their negative consequences.
namely. the further loss of solidarity and significant social bonds.

It is in this manner that the majority of modern sociologists describe the human
condition in the West. There is little hope for positive outcomes (in the sense of these
becoming more 'human'). but only uncertain lurches towards a 'post-human’ society.

Which of the following is true about today's society as described in paragraph 1?

1) It is being increasingly manipulated by the Western media.

2) Its problems are increasing, but many solutions are being offered as well.

3) It is becoming less and less human with regard to its daily social relationships.

4) It has a relatively better condition in the Western world compared to the other parts
of the world.

According to paragraph 2, the point discussed in paragraph 1 - .

1) is further supported by research findings

2) cannot be confirmed by objective indicators

3) is ambiguous and cannot be further illustrated

4) does not hold true as far as organizations are concerned

The word "inducing" in paragraph 3 is closest in meaning to ---------uevu- G

1) involving 2) persuading 3) frustrating 4) authorizing

According to the passage, which of the following will produce negative outcomes?

1) Inter-subjective relations 2) Vitality and regeneration

3) Solidarity and social bonds 4) Individualism and privatization

Which of the following best describes the author's attitude toward the future of the

Western society?

1) Optimism 2) Pessimism 3) Enthusiasm 4) Indifference
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